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Chapter 14, Solution 7.

@) 0.05=20log,, H
2.5x10% =log,, H
H =10%5%" = 1.005773

(b) -6.2=20log,,H
-0.31=log,,H
H =107 =0.4898

(c) 104.7 = 20log,, H
5.235=log,, H
H=10>* =1.718x10°
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Chapter 14, Solution 9.

H(w) =

1+ jo)1+ jo/10)

Hy = -2010g,,|1+ jo| - 2010g,,| 1+ jw/10

¢ = -tan*(w) — tan™*(w/10)

The magnitude and phase plots are shown below.
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Chapter 14, Solution 11.

_ 5(L+ jo/10)
jo(+jo/2)

H(w)
Heg = 2010,, 5+ 2010g,,|1+ jo/10 |- 2010g,,| jo |- 2010g,5|1+ joo/2|
¢ =-90°+ tan ™ /10 — tan " w/2

The magnitude and phase plots are shown below.
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